1/3

&
T VA AP

8)| 83
E RS RGeS

|‘>_/€ l.\\

B F10FE

F%Eiifﬁi "H%BZC"Z”’:{E =]

W




2/3

N
= — -
\,

R EHEE
RAA S REET ARG T
REOHES wE @
# R| 00w |mEEs|
BHERE
BIRHE
ROABEERARR MR

FHEE EHEEESBH




100. 000

90. 000

A

\\!
91-104“\9 5™
ded

A EE s=1:600(A3)

EfAIER 51000

HEER 47000 ?OOJ)

g 3
e y
T o
s 8
Iy =}

g B s

= 19435, 118

a5 37, 105 M5 00

45 ded ~
A

L

B A

R

NO. 520+15. 50

%
Q%b‘%@ﬁ‘
S oSN

=

V

AGS For AGS
DL=80. 000 DG b DGS
iz
/N L5300y
N R i
& & & ) & & &
o~ © o < (=] N =23
= = > € 2 2 s s 3
it B & 5 5 5 5 5 5 5
& © B B 3 3
g g g g g g 5
B INEERE S = 2 g g s s
5] @ (52 5] ~ = =
2 g 2 S e S S
S & & & & & N
8 8 S S 8 8 ©
LR S 5 g g g g 5
N © ~ © o o —
b (] =1 bt rd e e S S
= = = = = = 8
= = = = = = o
2= (S R=c0
Eﬂ $ L=252. 674
= = ~
© gl =2
Sle o 77;7,;0_._‘9_‘___
e =)

1 EETRE A

FER s=1:600(A3)

\\

\o
AN

1. B TE B

:‘l H10.B-4

NN

EIJ: \ l\ l‘ '\ I‘ ‘I \‘ ’I I‘ ‘I IHIM

—»

&lli‘!‘ ‘u'“l!‘ \ill\LIHxH\

SRR

S EFZAERTER s=1:300 (A3)

3/3

5600

e [ =
3500 _750_ 3250 3250 ) 0 3250 750 3500
|
_______ S | [
[a~ |
|
2.000% 2.000% : 2.000%~ 1. 000% 2. 000%
(@] O
11250 11250
FLEHEE
WA/ /AR T @R E5
. 1
el HEOHEE 2th—BE
ERIHRE: ) | |
e % R| B |EEES v
TR RO
HEE T RAT BEt A
BIRHE
REABREBRRRAT MRXA
FHE SHEEEHER




